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Indefinite Integrals Ex 19.25 Q1

Let I=|xcosxadx

Using integration by parts,
I=x[oosxdx - [(1x[cosxdx)dy +c

=xsinx - [sinxdx +C
I=xsinx +COsSXx +C
Indefinite Integrals Ex 19.25 Q2
Let 7= [log(x +1)dx

= [1xlog(x +1)dx
Using integration by parts,

I=Iog(x+1)]1dx—](x+1

x]ldx]dx +C

=xlog(x+1}—][;%de+c

=xlog{x+1)—](1— de+c

X +1

I=xlog{x +1)-x +log(x +1)+c
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Let I=[x%logxax

Using integration by parts,
I=logx|x®dy - j[ixjxgdx]dx+c
X

4 4
X X
—logx - [—dx +¢
4 G

+ 1
= logx - —[x7dy +¢
4
4 4
=__logx - lfx—dx +c
4" 4
4
I= X_Iugx—_x4+c
4
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Take first function as x and second function as ", The integral of the second function is e”.
Therefore, I}{ex dx = xe® - Il. et dx=xe 2" + G
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Let I = | xe%dy

Using integration by parts,
I=x]ezxdx—][1x]ezxdx)dx+c

2x 2¢
e [[ET]G'X +c

2
Xsz er
= - +C
2 4
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Let 7= [x% "dx

Lsing integration by parts,
I=x?[e™ dx - j{zxfe'x G"X}
= —x%e™ -~ [[2x) {—e"")
= - + 2| we T dy
= -—x%TF 42 [x] ey — | {1 x ]e'xdx)dx}

= —x%F +2[X[—e'x)—][—e'r)dx]
= x4 —2xe™ 4 2[e dx

I=-x%" _2xe™- 267 4

I=-g" [x2+2x+2)+c
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Let I=|x%cosxdy

Lsing integration by parts,

I=x*[casxdv - [{2x| cosx ax)dx

= x % sinux - 2f fx}{sinx)dx

=xZsinx - E[XI sinx dx - [(1 x[zinxdx}o‘x]

= xZsinx - E[X (- cosx)- [[—cusx]a‘x]

= x%sinx +2x cosx - 2[fcos x Jax

2

I =x°sink + 25 cosx -2sinx +cC
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Let I=|x%cos2xdy

Using integration by parts,
I= %% cos2x dx - [ {2 ] cos2x dx)ax

inZ inZ
_ 2 5in X—EIX[SIHE X]G'X

2

= ZxZsin2x - | xsin2x dx

xZsin2x - [x[ sin2x v — | (1] sin 2}:’0‘){]0‘){]

xZsingx - {x [—_ ':DES EX] - j[— I:DSEEX]G'X}

x2cinax + 2 cosax - l”:I:DSEX:]G"X
2 2

PRIl M= PRI P

1 . ;
I==—x° 5m2x+£m52x —i5|nzx+c
2 2 4
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Let I=|xsinixdx

Using integration by parts,
I=x[sin2x dy < (1] sin2x dv) ax

=x{— DDSE}(J_ I{_ CDSEXJG.X
2 2

X 1
—Ec052x+§]c052xdx

X 1 sin2x
- —CoOs2x + —
2 2

I= —iCDSEX +l5in2;{ +c
2 4
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L - D
x

1
=[|=|{logll a
I[X]{DGIDGX}} x
Lsing integration by parts,

1 1 1
F=1 | —dx - —adx |d
oG DQXIX X I[xlngxlx x] a1

= logx xlug[lngx}—j[ Iugx]dx

xlogx
= logx xlogflogx) - j%dx

= logx xlogflogx ) -logx +c
I=logx{loglogx - 1) +¢
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Let I=|x%cosxdx

Lsing integration by parts,
I=x?oosxdx - [{2x] cosx dx )dx
= xZsiny - 2[x sinxdy
= x¥siny - E[XfSiﬂXG"X - j[ljSiﬂXﬂ'X}G‘x]
=x¥siny - E[X f- cosx) < [(- mzx]dx]

= 55Ny +2x COS X = 2[fcosx)dx

I=x%5iny + 25 EDS X - 28iny +C
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Let I=|xcosec?xdy

LUsing integration by parts,
I=x[cosec? xdy - j{[ cuzeczxdx)dx

= —x cotx + [cotx gx

= —x cotx + logfsiny|+c
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Let I=|xcos?xdx

Using integration by parts,

I=x[cos?xdy —I{ljcuzzxdx)dx

p {EDSEEX+1JG'X—J[I{1+CEDSEXJG'X]G"X

—

X¥|sn2xy 1 SN2y
=— +x |- =[x+ ax
2 2 2 2
X x¥% 1 %% 1 COSZ2x
=_s5nNdx+—- Z"w—-2"1|- +c
4 2 2 2 4 2

I= i5ir‘|2x +X— +—CO0s2x +0C
4 4 8
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Let I =[x"logx dx

Using integration by parts,
I=lagx|[x“ax - [{i]xza‘x]dx

X
r+l r+l
- logx — | ix al (oS
nh+1 ¥ h+1
X.':-+1 X”
= logx - | aw
n+1 H+1
n+1
y Iugx—;zx”+1+c
n+l [+ 1)
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IIE%EdXHIIDgx'[—#rde
x x

by integration by patts

julugx|[;1ﬂ-jdx=lugx[[;1ﬂ-]dx—[[dIl;xgxI][[[;lﬂ—]dx]dx
1- 1- - -
=lugx[x n]—]l[x H]a‘x=lngx[x H]-](ﬁ].ﬁx
l-n | 1-n l—n l-n
xl_” { xl—n xl—n Il—n
=lugx[l—n]_[l—n][l—n]=lngx[1—n]_ [1—11]2 Rl
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Let I=|x%sin®xdx
_ [xz[l_ I:;SEX]G.X

z z
=IX—G'X—I N CDs 2N i
2 2
3
=X——l[jx2|::|:|52xa‘x]
a2
XS 1 =
=———[x IEDSEXG"X—I[EXIEDSEXG"X]G"X]
a2
3 5 )
_N l X25|n2x +lle X5|n2x i
a2 2 2 2
i) o . 1 : :
= - —x*sinZx + Z[x[ sin2x dx - [(1] sin 2x dx)ax |
&} 4 2
3
X 1 ; 1 Cos2x COS 2k
L P (Y Py I (8 -[l= e
f 4 2 2 p
3 <
s 1 ) 1 p’
=———XESIHEX——XCDSEX+—SIHEX
5} 4 4 4
i
X 1 : 1 1N
I=l = Zx?sinoxe- & RESW A LN 2 +
a] 4 4 a
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Let i = jzxgexzx s
Let x%=t
2xaw =dt
I=[txe'gt
Lsing integration by parts,
= tfe'dt - [ 1 x[efdt] gt

=t - [t
=teh -t 4o
=" (t-1)+c

r=e* {x2—1)+c
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Let I=|x3cosx®ax
Let x%=t
2y dw =gt

I= %H‘CDS awla
Llsing integration by parts,

= l[t[ costat - [ {1x] costdt)dt |

[t =sint - [sintdt]

[ S G S

[tSint+ I:I:ISI‘:|+C

1 .
I= E[xz sinx® + c05xz]+c
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Let I =[xsiny cosxdy
Y [i[ESinx cosx | dx
2
1 :
= E]X Sin 2w dw
Using integration by parts,

x[sinZx @i [[1=]sin2x dx ) dy
[ )

SRl il

—lx Cos2x + i] cos 2y gy
4 4

M= M-

1 )
I =—-—xcoslx +15|r'|2x +c
4 g
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Let 7= [sinx({logoosy)dx
Let cosx =i
—sinx dx = gt
= —[log#at
-[1xlogtat
Using integration by parts,

—[Iugﬂdt— j[%x[dt]a‘t]

—[I‘Iugt—]%xtd!}

= -[tlogt - [at]
-[tlogt -t +c, |
=tf1-tlogt)+c

F=cosx{l-logoosx)+c
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Let I= j[lugx}zxdx

Using integration by parts,

< flogx)? [ g - [z[mg,x]{ﬂ xded

2 2

=%[Iug){] —X—Iugx+ [ 2 v

= X—z[lugxf - ilugx +ix?ic
2 2 4

2
x 2 1
I=—1Il -1 =
5 flogx) Dgx+2}+c
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Let  7=[e®dx

Let  of = ¢

x =t

dx = 2tdt

I=2[e'tar

r= E[tj e'at - | {1 efat] dt]
1=2[te" -|e'ar]
=2[tet—et]+c

= 2g* [t—1]+c

I=Ee"";(\|’_—1)+c
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log [x + 2) "
[x+2]2

_ 1
{5 + 2)

i —jlug[%]dt

= ~[logtr~tat
=-[1x=logtdt
Using integration by parts,

za'x:dt

I=Iugt]dt—j[%jdt]dt

=tlugt—j[%xt]dt

={logt- [q¢

=tlogt-t+c
1

o+ 2

{Iug{x +2:]_1 - 1) +c

-1 logfx +2)
= - +
X+ 2 X+ 2
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o xE +siny

Let =]
1+cosy

s

X X
0 25N —cos —
— a4+ I#g‘x

Ecuzzg 2ms —

=

1 X o
Zixsect Zay 4+ tan = dx
2 2 2

Using integration by parts,

= l[x] sec? v - J{l]SECzidXJG'X]+ ]tanﬁdx
2 2 2 2

= 1[2;{ tan - 2 tanﬁa‘x} + [ tan X +c
2 2 2 2
=xtan£—[tania‘x+[tan£dx +c
2 2 2
I=x tanﬁ+c
2
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Let I =[logygxdy

= 1=l o)
IDglEII = logx ax

LUsing integration by parts,

1 x
= og 10 [xlugx - ][;de}
1

_|Dglﬂ

[#logx - x ]

g
logl0o

(logx - 1)
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Let I=[|::|:|5J§dx
o=t
x =t2
dx = 2tdt
= [2tcostge
I=2[tcostat

I=2[tcostdr - [ (1] costdt)dt ]
=2[tsint - [sintdt]

=2[t5int+ I:I:ISI‘:|+C‘

I= 2[\1';5"1 5 +D:|5q|r;]+c
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-1
| et I=J-XCOS k4

P
N

Let us substitute, t=cos™ x

1 ox
1-x®
Alzo, cost=x
Thus,

I=—_[t cost dt

=t =

Mow let us solve this by the 'by parts’ method,
Let u=t; du=dt

Icost dt = _[o'v

=sint =v

Thus, [=- [tSint— J'sin ta't}

= I1=-[t=int+cost|+C

Substituting the value t=cos™ x, we have,
[=- [cos‘l xsint+><]+(3

=]=- [0:35‘1 wal- x2+><}+'$
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Let I=|cosecdy

= [cosecx - cosecixdy
LUsing integration by parts,

CoSecy x | coseciydy + I‘CDS ecy cotx| CDSE‘CZXG"X:]G"X

casecy x [~ cotx)+ [cosecy cotx (- cotw v

- cosecx cotx - [cosecy cot? xdy

- cosecy cotw — [Ccosecy {EDSE‘CEX - l)dx

- cosecx cotx - [ cosecivdy + [ cos eoxdx

X
I =-msecy ooty -7 +log tanE + 2y
X
2f = —cosecx cotx + log tang +oy
1 1 X
I =-=—cosecw cotx + —logltan=|+c
2 2 2
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Let I=sec . fvdx
Let ¥ =¢
x =it2
dx = 2tdt
I=|2tsectiragr

= 2| sec t[tdt—][

ﬁ ; m‘t] a‘t]

[ .2
=92 t_gec_l—] —t qt
K ZEt? -1

£
-1

=t%secie— | Qe

=t259c'1t—%x2 2 _1+c

I=XSEI:_1\E—WI'X—1+C
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_[sin'lﬁ dr =
let x =# — dx = 26di
Jsin™ % dx = J'sm'lf 2t = [ sin™¢ 2t

= sin™ ¢ 20t - [_[ dsj;_l f [2rd s ]

! ()t

J-17
h # el

J#If: |df = _[f;l__l:_:ldf = Ij:flldf-l_'[dlif: df
PSR A b G £ Df_[ﬁdf = sinls

Retnaining integral to evaluate is Ji_;:,.df = J—ﬁdﬁ

sub t=s1nu, di=cosu du

_[—\I‘i —#'di = _[— cos” udu = —I[M}iu

2

=sini(#’ |—_[

Lets sobve _[

- sin 2u
2 4
Subatitute hack w=zinY¥and f = fx
_ _sin'lJJ? 2 sinf 2sint 7
7 3

_[sin'lﬁ dr = rsin™ ofx - sm_l""l; - sj.n(Esin'lﬁ)

2 4
ginf2einty7 = 2 frI- 2

[sin73f dx = xsint 7 - sinlyfi H-7)
2 2
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Let I=[xtan®x.ay

=]x[59c2x—l)dx

= [xsect xdy - [ xay
z
= [x]zeczx Q- j{lf sec? x a‘x)dx] - X?

-
=x tanx - [ tanx dx oy

2
I=Xtanx—lug59|::x—?+c
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Let I=lx [w]gy

seCEZy + 1
- x 1-cos2x »
1+ cos 2y
z
y SEEZX e
oS X

= [ % tan® xdx

= [X{SECZX —l)r_:"x

=[x sec? xdy — |y
2
= [XfSECz)c’G"X - j{lj sec?x G"X)G"X} - %
-
= x tanx - [tanx dx iy

2
I=Xtar‘|x—lugzec:x—?+c
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Let I=[[x+1}exlug[xex)dx
Let xa® =t
{1 wa” +Xex)a'x = ot

[ + 1) e¥dx = dt

I=[logtat

=[1=logtat

_ Iugt]dt—[[%jdt]dt
1

= tlugt—[[?t]dt

=tlogt-|[ at

=tlogt-t+c

=tflogt -1} +c

I =xe" [Iugxex - 1}+c
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Let I=|sint [3)( - 4-x3)|:"x

Let X = s5ing
dx = cos8de

= [ =sin! [3 sing - 45in35') cosgadg
= [=in! [sin38) cos 8de

= [38 =848

= 3[.9] cos8ds - I[IICDSSG‘E}G'E]
= 3[8sing - [singdg]

= 3[@sind+ s8] +c

I= 3[;{ 5in'lx+«il—xz}+c
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Letx=tan = dy=sec” & db

:.sin"[ zxﬁ]=sin"[ﬂJ-sm (sifr20)= 26
1+ x° 1+ &

= j‘sin '(Hx ]dx-jzﬁ' sec’ Odd -z[& sec’d d6

Integrating by parts, we obtain

2{9. [sec’ 06~ {(‘% aj [sec’ Edﬁ}d&}

=2[ 6 tan6 - [tande |
= 2[3 tan £ + Iug|cusﬂ|:| +C

s

=2xtan x+21ug( ) +C

=2xtan 'x+2{ ( }

=2xtan ' x - lng(1+x )

= 2[1‘ tan ' x + log
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3
-
Let I= Itan'1 S o i
1-3x

Let X =tang

gy = sec” &d8
3
I=[tan™! Etans'—tin 9 sec o as
1-3tan*x

tan~! [tan 38) sec” &de

= |
[36sec?adg
3

[ej sec’ 9.8 - | {1 sec? 9.ds) de}

36 tang - [tangds ]
= 3[#tané +logsecd |+c

=3|xtantx - |DI§|«,I|1+X:|

+C

I=3xtantx - glug|l+xz|
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Let I=|x%sin ! dy
I=sintx|x%dx- j[;szdx]dx
g

= XS

XE
=?5|n'lx—j—dx

1= 52

3 i
X—§f1+c‘1 —————— [1]

oy
=t et
3

XB

n-1EE
1-x

Let 1-x7=t?
-2xdy = 2tat

—x o =tdt

{1- tz) rar
£
[ (£2 - 1) at

.l.irl=_

I
|
+
+
Ly
P

M ooy,

I= %Sin'lx —%{1—X2)§+%{1—x2)%— +c
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sin~! x
2

= [[%JISin'lx)dx

. 1 1 1
I= [Sm lxlx—zdx—][ — ]?dx]rj){]

ax

Let =]

R JVIy
I= —sin X+ (1)

Where,
= | ——=0ax
Myl —x
Let 1-#? = #2
—2x = 2t

. i .

xzw.l'l —x?

balt

=_I{1—t2]~f§
L
s

1
|
F-1

s gt
2 e

=l||:|g Ml-x% -1
2 N1-x%+1

-] at

+ oy




I 0,

f——Sin_1X+£|DI§| 1-x%-1 1-x%-1 i
o2 L-xZ+1)(1-x% -1
— =z
- 2_
sintlx 1 (1 ¥ 1)
= - +Zlogfem——"|[+cC
e 2 1-x%-1
z
f z
sinTlx 1 (l_X _1)
= - + = loglt— |+
X -
-1 f z
1- -1
LY +I|:|g| al +C
| —x
sin ! 1- 41— x%
I=- +log +c
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2.1
t
Let 7= 20 % gy
1+x
Let tanluw =t
K =tant
1
2dx=u:"t
1+ x5
I=|ttan®edt
t{Seczt— 1)dr
= |[tsec?t- tar
tsecitadt - [tat
+2

2

I

=]

[t sec? ¢dt - | {1 sec? tat) a‘t]— L
= [ttant - tantdt]—%

E.z
=ttant- |DI§|SECE'—E+C

z
=xtantx - logyl+x? - tar; X vc

tan®x

1
I=xtan'1x—alng|l+x2|— +c
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Let I =|cos™? {4X3 - BX)G"X

Let XN =rcosg
dy = —singadg

I=-[cos? {41:::1535'— 3 CDEE)SinSG‘E
= -jcos™! {cos 38) singde

= -[38sinFdg

= -3[8[singds - [[1f sineads)de]

= -3[-9cos8+ [cos8ds]

=358cos8 -3sing +¢

f=3xcn:|5'lx—3~,l'l—xz+c
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1-x°2
Let I=|cos™? = | ¥
1+x

Let X = tant

dx = sectdt
z
I =[cos™? Laﬂ; secd gt
1+ tan<?

feos™ {cos 2¢) sec? bt
= [2tsecitdt
2| ¢fsce?tar~ | {1/ sec?t at) a‘t]

2[#tan? ¢ - [tan trjt]

[
2[ftaﬂ2f—|DQSECE‘]+C

2 |x tan~ ! x - logwl +x2}+c

I=2xtan™tx - Iug|1+x2|+c
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Let I= jtan'l{ 2X z]dx
1-x
Let X =tang
gy = sect &dg
I=tan™! [ﬂ] sect 8de
1-tan* g

tan™! (tanzs) sec’ adg

I
|28 sec ode
2

[9[ sec?8ds - [ (1] sec? 6d8) de]

ftang - [ tang déd]

2[
=2[ftang - logsecs ]| +c

2|x tanlx - logyl+ 57 }

I=2xtan 1y —Iug|1+x2|+r:
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Let - I=[{x+1)logxasx

= logx [ [x + 1)ax - | [Xij [* + 1) a‘x}:fx

XE

2
=|—+x Iugx—]i[}(—+x]a‘x
2 x| 2
1
= | —+X Iugx—ijxa‘x—]dx

-
- N+
2

X
=|x+—|logx -

X X
I=|w+—|logw -|—+x |+
2 4
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g
r\:lll—"



Let I=|x%tantxdy

tar x| x % dy - ][ 1 5 ]xzde

1+x

3 3
tan'lx[%]—lj N v

371 +x2
=lx3tan'1x—l]{ B 2}@'}(
3 3 1+x
1 1 x? 1
=—x3tan'1x——xx—+—[ Y v
3 3 Z 31447
1 1 1
I==xtantx ——x2+—I|:u;||1 +X2|+C
3 a] a]
Indefinite Integrals Ex 19.25 Q46
Let i= [[e":'“ + Sinx)me ol

[:x + Sinx] COS . o

X COSx G + [ sine cosx dx

I
= [X]I:DSXG"X < [1]m5xa‘x]a‘x]+ %ISinzxdx

=[x sinx - jSinde:|+é[— CDSEX] +C

. 1
= X SNy +Ccosx —ZI:I:ISEX +C

. 1 :
I = xsmx+cosx——[1— Zain’ x:l +c
4
. 1 LA
I=zxsinx+cosx——+—=an” x+c¢
4 2
. 1. .
I=rxsnx+cosx+—san® x+ec——

1

. 1.
= xsmx+cosx+§ sin® x+k, where }'c:c—a
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{X tan™!
Let i=]

")
3 e
[1+;¢'2)E
Let tanlx =t
1
1+ x

2dx=a‘t

r= ttant ot

-\‘Ill +tan? ¢

ttant
cect
sint
cost
= [tsintgt
= [tisintt - [{1]sintdt)at]

=[-tcost+[costdt]

=] gt

=t costdt

=[-tcost+sint]+c

tan~tx X

N1+ 5% +\|'1+x2 i
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I=-

Let I= ]tan'1 (@)a‘x

Let  x=t°
dyx = 2t dt
I=|2ttanttat

1
= 2| tan [ ot - rdt|ar
/ I{1+t21 ] }

2 2
=2 t—tan'lt—jt—dt
2 2(1+t2)

2r1-1
=tPtan~l - [ —_ar
1+

=t2tan'1t—j[l— 1 }:ft
1482

=t2tanlt-t+tantt+c

={t2+1)tan'1t—t+c
I= [x+1]tan'1\|"x_f—\f§+c
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| P tan ™l x dx =

) . . -
| x* tan ™ x dx = tan ™ x| xzdx—[l dta; il chfXIde

x
4 . 4
—tan - | i 5 E \ax
4 Y14z 4

¢t 1 T g 3
o (?Jcﬁ: Z[J_mdx +{x —1}@4

4 3
il |:1!'x=l tan'lx+x——x
4 4 3
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Let I = [xsinx cos2y ax
=l]x[25inxc552x]dx
2
=%jx{5in[x +2x ) - sinf2x - x))dx
=%]X{5in3x—5im{]dx
1 . . . .
=§[xj[5|n3x—5mx]a‘x—j{1j[5m3x—5mx}a‘x}a‘x]
1[ [—EDSBX ] [EDSSX ] }
=—|x +cosx |- |- +Cosx [dx
2 3 3

1 .
+XEDSX+ESIFI3X— SNy | +C

by
|
M|~

[ cos 3y
-
3
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X

«fl - x? '
First we find the intergral of the second function, ie., J‘ de

Put t =1 - x% hendt--2xd><1 p
d=_ =_/_2
Jl__x 2J‘Jt_ \/E 1-x

Hence, X,jfrj—xx [—\/l—_x] _I

Let first function be sin™ x and second dunction be

Therefore,

\[1_2 [—,fl—xz]dx
1-x
Jl—x sin” ><+><+C=><—\f1—><2 sin? x +C
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Let I=]5in31l"x_fu:"x

o=t
x =2
dx = 2dt

I=2[tsintat

2”[3 5|ﬂt;5|n3t}jt

%jt[HSiﬂt—SiﬂBt}dt

Using integration by parts,

I= 1 [t{—B cost+ %CDSBE‘J - j{—B cost+ cu;Bt]dt}

z
-9t cost +fcos3t ) sin3t
3 —«=3 5Nt + g +

—-Stcost+tcos3r 27 sint-3sin3t
3 + 3 + o

1 . 4
—B[—E?tc05t+ oS3+ 27 sind - 26in 3t:|+r:

= LE[B\&_*CDSB\E+ 27 5|r'|J_ E?JA_’ |::|:|5qf_ 3 =in qu_]
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Let I=|xsinxdy

[3 sinx —sin 3X}j
[ % S o He

1
7!

x (Fsiry - sindx ) dx

Lsing integratiun by parts,

I= [ [{3sinx - sin3x)dx - {1][35inx—5in3x]dx}dx]

=1 3CDSX+ 053X = —3CDSX+CE|53X aw
4 3 3
1 X COS 3x . Sin 3
=—|-3XCO5K +——+ 35Ny - — |+
4 3 Q

1 . .
I= E[BX COS3y — 27w cosy + 27 siny - 5|r‘|3x:| +e
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Let I=[xcos®xdx

[
X

[SCOSX + cos 3x "
4

[x(3cosx +cos3x)ax

£

Using integration by parts,

I= %[x[(acosx + cos3x Jex - | (1] (3 cosx + cos 3x}a‘x]dx]

[x [3 sinx + sm33x)_ [(3 sinx + S'n;X]dx]

e e N

; X Sin3x cos 3x
[3xsmx+—3—+3|:osx+ ]+c

3xsiny  Xsin3x 3cosx  CoOsS3x
I= + + +- +C
4 12 4 36
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i £
g+

Let I=[sin" ax

Let x = atan® g
dx = 23tan & sec 848

. atar® g
I=1]|sin ! —_— {Eatanﬁ'zecz-ﬂ)dﬂ
a2+ atan* &

. tan® g
= | sin? [Ea tan g sec” 5') a8
sect @

= [sin™! {sin&) [Ea tang sec” .5') 3

= [28a tan & sec? 849
=238 {tané‘ sec? -5'} ag

- 2&[8] tang sec? 96 [[ tan 8 sec” ed.e)d.e]

2 I 2

tanZs - tan<@
=Eal8 . =Y de}

= aEtanz-Q—EE—a[{sec:zE— 1)r:.f9

= a9 tan® s - atan 8+ a9 +c

1 WA - 1 |
= 3| tan — | —=-3,]— + 3 tan — +c
|3 3 a
_ llx _ ||x
I=xtan™! ——».,."ax+atar'|1 — +c
3 ]
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3 _. 1,7
Let I = ]wgy
1-x*?
Let sinlx?=¢
1

«‘I'l—x4

2

I:EX}G'X =dt

sim! w2
-1 - s

. at
= [[sint) tE

I=] e

1 .
== [¢tsintdt
2

Flsintdt - [[1fsintgt) qF
{ )

[t{-cost) - [{-cost)at]

P P P

[—tu:u:uSt + Sint] +c

I= %[Xz—‘u'l—)(4 5in'lxz]+c
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Let sin~

Sin® ¢ wt

) {1 - 5in® t) 7

i

Fsin® ¢
= [———dt
cos<F

= [#tan® it
= [t[SEI:Z £ - l)dt

2
]tzecztdt—%

2
#[ sec® tat - j{lj sec? ta't) ot - %

2
z“caﬂz“—jtani“a‘i“—E

2
ttaﬂt—lugzect—3+c

X -
I=—" st
z

— x+|ug|1—x2|—%[5in'1)r:]2+c





